—— A
N = 0 & AF S 99 N A
20218 = 20 A LEHSIH A IIE
SN 08D
HEM: Hd S X
©ol MBS (Etel & &)
L=
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlgﬁ HDZ2
HAII= 10 144,438,918 123,518,223 20,920,695
= 83,754,656
g 600,000
Jl 1,836,920
= 19,200,372
Al 39,046,970
e X &8 6,724,457 3,744,968 2,979,489
= 1,055,220
g 600,000
J| 1,307,119
& 868,040
Al 2,894,078
AHES 23S A 52,090 54,250 A2,160
o= 4,267
Al 47,823
O A CHA|I 8 AF K& 23,420 25,580 A2,160
203 €2 F=&d| 3,000 3,000 0
03 Al ZH =X 2= XH| 3,000 3,000 0
OWHEIE AIEFA 3,000
301 et X = 5,420 7,580 N2,160
09 HAIAHI XIS 2 5,420 7,580 N 2,160
O ANNEA22H L HI|AF3 EI}
5 Ak 18,000 *30YH *63| 3,240
OSLCR HAHAF &I 24 100,0002 x5H 500
OSSR {AdelAF &I B4
14,0002 *60H *23| 1,680
307 giztol A 15,000 15,000 0
11T A EXAIEEX 15,000 15,000 0
OXHdHSF2E J|EEHAF NS 15,000
S SHAIR R (EX) 13,150 13,150 0
o= 3,600
Al 9,550
307 212t0| & 13,150 13,150 0
=} 3,600
Al 9,550
11 A EXAIEE X 13,150 13,150 0
OWHdEM IS23AIS 13,150
& 3,600
Al 9,550
ENEX A 5,800 5,800 0
201 B9 5,800 5,800 0
01 AP 22| H| 5,800 5,800 0
ORFU S SO0 - HEEA - H=2 g
ELTE =S 1,500
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2N
X ZH -
L= B

el

P IlE=n}
oy =X s
C2sIEX

SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
Al 116,532
OUESIIsuUsALAEE2 89 41,400
J| 20,700
o= 8,280
Al 12,420
11T A EXAIEEX 3,000 0 3,000
OXO0IIt=E Z2E01F0HY LOISAMY 3,000
J| 1,500
& 600
Al 900
CRsts g2ns 2 Azl 224,721 180, 114 44,607
J| 112,361
& 33,708
Al 78,652
307 2Iz2t0| A 224,721 180,114 44 607
J| 112,361
& 33,708
Al 78,652
11T AISIEXAIE EX 224,721 180,114 44 607
OUSRIINE L2 uSAY 192,896
J| 96,448
= 28,934
Al 67,514
OLUE3IE At &2l XN 31,825
J| 15,913
& 4,774
Al 11,138
2E0/0 K SHAAHA X2 168,200 130,527 37,673
J| 60,100
= 18,030
Al 90,070
307 2Iz2t0| & 168,200 130,527 37,673
J| 60,100
= 18,030
Al 90,070
11T A EXAIEE X 168,200 130,527 37,673
OZE&0|2AH SEHAANHI A X 120,200
J| 60,100
& 18,030
Al 42,070
OZE0|0X SHAA =I1 X (2Y) 48,000
CIE3IsSIHE Adggnd 35,520 32,820 2,700
J| 17,760
= 5,328
Al 12,432
307 212t0| & 35,520 32,820 2,700
J| 17,760
= 5,328




2N
X ZH -
L= B

el

P IlE=n}
oy =X s
C2sIEX

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Al 12,432
11T MISXASEX 35,520 32,820 2,700
OU=Zs =X Hoee XA 35,520
J| 17,760
< 5,328
Al 12,432
OISAHOIIZE# I LAY 30,070 28,325 1,745
J| 15,035
< 4,511
Al 10,524
307 21201 A 30,070 28,325 1,745
J| 15,035
< 4,511
Al 10,524
11T MISXASEEX 30,070 28,325 1,745
O0IESANHIIE SFEZLHAY 30,070
J| 15,035
< 4,511
Al 10,524
ZS0I8X AL XA 20,000 20,009 A9
J| 10,000
< 3,000
Al 7,000
307 glz2tol & 20,000 20,009 A9
J| 10,000
< 3,000
Al 7,000
11T M ZSXASEX 20,000 20,009 A9
OZE0IUXR A2 (8=20nE 29) 20,000
J| 10,000
= 3,000
Al 7,000
CEsIEs SHAMHIA 33012 Xdd &5 (X 63,250 39,202 24,048
SRS )
= 23,100
< 6,930
Al 33,220
307 glz2tol & 63,250 39,202 24,048
= 23,100
< 6,930
Al 33,220
11T M SRASE EX 63,250 39,202 24,048
OUEsIE SHIANEIA 33012 XA oA
i 57,750
= 23,100
= 6,930
Al 27,720
C4liEdg = 5,500




SH: 0EIED
HE: 04 =X 5T

el G2sHsXE (Sl & &)
= _ = s
SA - - ERA(E) - NTAY - BES 0f o il Hl D52

CRNENAME SAX CHX 88,551 78,700 9,851
= 29,585
Al 58,966

307 @lz2tol & 88,551 78,700 9,851
< 29,585
Al 58,966

10 A SAAIEHIESSHIEX 88,551 78,700 9,851
OUSIIEZXNELUE SAL K& 88,551
< 29,585
Al 58,966

=22 0tss 120,000 120,000 0
3 42,000
Al 78,000

307 giztol & 120,000 120,000 0
S 42,000
Al 78,000

1A SEXAIE E = 120,000 120,000 0
O2z¢ 0t=stg 22 120,000
< 42,000
Al 78,000

Ct2stots DELIS0l MY 29,000 32,000 A 3,000
£ 5,800
Al 23,200

307 212t0l & 29,000 32,000 A 3,000
S 5,800
Al 23,200

AR SXAIEE X 29,000 32,000 23,000
Ot =2ItE NetL =0l ALY 29,000
= 5,800
Al 23,200

Ces 849 A2 6,300 7,000 AT00
= 2,520
Al 3,780

307 glztol & 6,300 7,000 AT700
< 2,520
Al 3,780

A S XA E X 6,300 7,000 AT700
Otz dAadE AZXE 6,300
£ 2,520
Al 3,780

ZE0IQUR NAERADS 15,000 15,000 0
= 6,000
Al 9,000

307 212t0l & 15,000 15,000 0
= 6,000
Al 9,000




5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
11T M SRASE EX 15,000 15,000 0
OZE0I2A Ag=dus 15,000
= 6,000
Al 9,000
ZE0I8X XA 16,250 19,300 A 3,050
< 6,500
Al 9,750
307 21201 A 16,250 19,300 A 3,050
< 6,500
Al 9,750
11T MISXASEX 16,250 19,300 A 3,050
OZs0leXt e X& 16,250
< 6,500
Al 9,750
Ct2stt s X HE AL (REA) 39,500 33,000 6,500
301 LA F 6,000 6,000 0
01 MI2ZHE 6= 6,000 6,000 0
Og=RuEXNEZAM =EX+¢
50,0003 «10E 1204 & 6,000
307 21201 A 33,500 27,000 6,500
11T AR S XA E = 33,500 27,000 6,500
OUI23IHETHE BHS X &AL 27,000
OZ&0|2X WX 6,500
ZE0I2A HEHE A% 2HEE HASXE MY 7,500 7,500 0
307 21201 A 7,500 7,500 0
11T MISAASEX 7,500 7,500 0
OZE0I2X BEHE A% 2HEY HS X 7,500
2SS =X 3 A 19,220 16,220 3,000
201 Let24d] 420 420 0
01 At 2teltl 420 420 0
OUZa =N &=
70,000& x6ZF 13| 420
301 LA F 800 800 0
09 &AL HIXI &3 800 800 0
OU=zItE A4S A g4 24
20,000& 40 800
307 21201 A 18,000 15,000 3,000
11T MISRAISEX 18,000 15,000 3,000
Ot=Zsaltd stgrstore 12,000
OZE0I2A SHE-Z WIIAY 3,000
OU=2sitEs 28H= =28 XN& 3,000




SH: OEISD
a8 2K BT
Sl RSN (B9 ®R)

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

220t & UE23tENJdE 29 79,298 49,692 29,606

202 Oddl 3,000 3,000 0

01 =LHOI LI 3,000 3,000 0
OALIE - U EXNJHH N=EE 22 3,000

307 21201 & 76,298 46,692 29,606
OAMS=STANELEEE2EHES 76,298 46,692 29,606

g A& 76,298

Chefst D58 X2 3,996,750 1,320,680 2,676,070
1,032,120
600,000
86,125
412,188
1,866,317

Z NN

JHEHIH

e
it

1,800,000 0 1,800,000
600,000
150,000

1,050,000

= mni

403 AXHHS =0l A 1,800,000 0 1,800,000
600,000
150,000

1,050,000

= N

ARSI 1,800,000 0 1,800,000
OJEHdH A2 1,800,000
600,000

150,000
1,050,000

=z

NEAL LSRR (HAAIINEXR) 104,240 80,800 23,440
52,120
26,060
26,060

= MW

307 glztol & 104,240 80,800 23,440
52,120
26,060
26,060

= MW

1A SXAIE E = 104,240 80,800 23,440
OnEggHanz 104,240
52,120

26,060
26,060

= N H

f2uU=s N& 5,000 5,000 0

1,500
3,500

= M

307 21201 & 5,000 5,000 0

1,500
Al 3,500

m




2N
X ZH -
L= B

el

5 - 4
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
11T A EXAIEEX 5,000 5,000 0
OAHLeIE 24 20 X 5,000
= 1,500
Al 3,500
2=20lLtsH 29 190,810 46,420 144,390
J| 86,125
& 35,818
Al 68,867
307 QI2t01 & 190,810 46,420 144,390
J| 86,125
= 35,818
Al 68,867
11T A EXAIEEX 190,810 46,420 144,390
O2sS80tLsH 29(82X) 186,250
J| 86,125
& 34,450
Al 65,675
OZ2s=20lUsH SAIAxE 4,560
& 1,368
Al 3,192
2S=0lUsH 21242 A& 100,000 0 100,000
& 30,000
Al 70,000
402 SI2FXHE0| & 100,000 0 100,000
& 30,000
Al 70,000
02 QX2 A E X (0| &M THS) 100,000 0 100,000
O2=s=80tus=sH 228y X
50,000,000 =24 A 100,000
= 30,000
Al 70,000
2==20lLsH & X 86,000 0 86,000
402 SI2FXHE0| & 50,000 0 50,000
01 BIZtXIEANYE X (KM ) 50,000 0 50,000
O3s=20tUsH 212 E 50,000
406 JIEFRI 20| & 36,000 0 36,000
01 JIEHRF201 A 36,000 0 36,000
OZ2=s=0lU=sH ES2 2 2= 36,000
ololsE KNIEAIY(EX) 1,400,000 1,056,000 344,000
= 980,000
= 168,000
Al 252,000
307 2Iz2t0| A 1,400,000 1,056,000 344,000
= 980,000
= 168,000

oo




AR GRS =
3 od =N 58

el OiE IEFM Y CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 252,000
11T MISXASEX 1,400,000 1,056,000 344,000
ootolss K& 1,400,000
= 980,000
< 168,000
Al 252,000
OtOlS =20l A2 aH K& 2,700 2,460 240
= 810
Al 1,890
307 21201 A 2,700 2,460 240
< 810
Al 1,890
11T MISXASEEX 2,700 2,460 240
Ootol==20l A2F&H XA 2,700
< 810
Al 1,890
=M OO0l Ol& Ot0l=sSAMHA REXE 308,000 130,000 178,000
307 gl2tol & 308,000 130,000 178,000
11T M SRAISE EX 308,000 130,000 178,000
OSMOI&XH Ol0ISSHMEIA REXJ ALY 308,000
SHRE2IIEX & 796,744 744,300 52,444
J| 522,594
< 108,325
Al 165,825
StREEIIEANE 2=H s N2 643,940 599,200 44,740
J| 515,152
= 64,394
Al 64,394
301 LBEAZ 643,940 599,200 44,740
J| 515,152
< 64,394
Al 64,394
01 MEIBZE+05l= 643,940 599,200 44,740
Ost2L2II=EXH 2=dl s XN& 643,940
J| 515,152
< 64,394
Al 64,394
FA4E822 HEXE 9,304 0 9,304
J| 7,442
< 931
Al 931
301 LA F 9,304 0 9,304
J| 7,442
< 931
Al 931
01 Mel28E+06l= 9,304 0 9,304




SN O EIIE D
B 0l

S BRRIIEI EERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2

OFAUEsER NE XS 9,304
J| 7,442
= 931
Al 931

HNASE EXNIIE MEXNHKNIANL(BEX) 143,500 143,500 0
= 43,000
Al 100,500

301 dEtE M= 143,500 143,500 0
& 43,000
Al 100,500

01 Al B & X 26 2 143,500 143,500 0
OMAS S22 M X XA 143,500
& 43,000
Al 100,500

HeHASA 483,653 435,639 48,014
Dl 266,724
o=t 92,780
Al 124,149

IIEZHAYA 2K 204,410 185,280 19,130
J| 95,040
o= 51,819
Al 57,551

307 212t0| & 204,410 185,280 19,130
J| 95,040
= 51,819
Al 57,551

10 AISIEXAIEEHE2IHIEX 204,410 185,280 19,130
OJfd=zaises 29 X 204,410
J| 95,040
= 51,819
Al 57,551

A ZAETHA ESAE SN (FA:2FH|+H| % 204,254 168,788 35,466

SAMHH+E S ERA)

J| 137,302
o 30,807
Al 36, 145

307 212t0| ™ 204,254 168,788 35,466
J| 137,302
o= 30,807
Al 36, 145

10 AISIEXAIEEHE2IHIEX 190,403 154,382 36,021
OJJEZY Nl ESAE 2I9XE 190,403
J| 123,944
& 30,561
Al 35,898

11T AISIEXAIEEX 13,851 14,406 A\ bh5
OJIE = QoA sy 1,644




A OIS D

g d =X sd
SE R PR CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET

Jl 1,151
= 246
Al 247
ONY=HIUMNANESAE Bl=3X AL 12,207
J| 12,207

NEZLHIHN ESAE LA XA 15,000 10,000 5,000
J| 15,000

301 LA S 15,000 10,000 5,000
J| 15,000

01 MEIBEE 2063 15,000 10,000 5,000
OJE=ZS oA &2 Al AHEXH 15,000
J| 15,000

NHEEY Do MEsls T2 20,987 19,900 1,087
J| 14,691
< 3,148
Al 3,148

307 21201 A 20,987 19,900 1,087
p] 14,691
< 3,148
Al 3,148

11T ALS S XAEE = 20,987 19,900 1,087
ONEZgIdikt Xgs=s 220 20,987
b 14,691
< 3,148
Al 3,148

IFEEZELIH AL =8 K& 3,571 3,000 571
J| 2,500
= 536
Al 535

307 glz2+ol & 3,571 3,000 571
J| 2,500
< 536
Al 535

01 222724l 3,571 3,000 571
ONEZH Ui X 22| 3,571
J| 2,500
< 536
Al 535

JFEEY Jtoll At n3EXE T2 29 1,559 1,559 0
J| 1,091
< 234
Al 234

307 21201 A 1,559 1,559 0
J| 1,091
< 234
Al 234

11T AL SXAEE X 1,559 1,559 0




= - — L=
CB SR (B) - KIRAY - BES Ol &+ o4 SSa HmEET
OJIE=ZItol A wdXNsZ2)d 29 1,559
J| 1,091
< 234
Al 234
A= TloHA 2=Hl, 2tEHl XI& 1,572 ,572 0
J| 1,100
< 236
Al 236
307 21201 A 1,572 ,572 0
J| 1,100
< 236
Al 236
01 92724l 1,572 ,572 0
O&=gIlai A 2 =24l 1,572
J| 1,100
< 236
Al 236
AdHH AASI(EX) 18,000 ,240 A 3,240
< 5,400
Al 12,600
301 EEEd = 18,000 ,240 A 3,240
< 5,400
Al 12,600
01 Ml2ZE 6= 18,000 ,240 A 3,240
OEEY ZHANE SAX=sE 18,000
< 5,400
Al 12,600
Fotols HASH 7,300 1300 0
301 LEAZ 7,300 ,300 0
01 MEIBZE 05z 7,300 ,300 0
OJNEZHIMNX BESAE SAK OF2A2 24
g XA 7,300
OtsHEtERAAU2 Y 2,000 ,000 0
S 600
Al 1,400
307 glz2tol & 2,000 ,000 0
< 600
Al 1,400
11T M ZXASE EX 2,000 ,000 0
O0tsH4dE X992 2,000
= 600
Al 1,400
HdEZHLE2 ALY 5,000 ,000 0
201 L2l 5,000 ,000 0
01 At 22l 5,000 ,000 0




AN GEIEY
g d =X sd
S HERAASH EERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| | | OEZAULEZAL 5,000
otsdayd =X &8 33,062,681 31,410,867 1,651,814
= 13,674,505
J| 437,269
< 9,384,213
Al 9,566,694
BEAME 2EXE 21,916,618 20,456,616 1,460,002
= 9,288,260
< 7,323,730
Al 5,304,628
oeold 249 2 SAMK X2 912,700 577,100 335,600
201 L4l 3,500 3,500 0
01 At 22l 3,500 3,500 0
OExZFMAZS A=Y 70,0008 +10F x53] 3,500
202 4l 3,000 3,000 0
01 SLHOIYI 3,000 3,000 0
oogold XNe&EE &2 3,000
301 LEHZ 859,200 537,600 321,600
01 MI2ZE+06l= 859,200 537,600 321,600
O0LoH 2+A X &AL
5003 202 «700H 1201 & 84,000
O old 2tAaldHl XI&
500& 202 *2, 100E = 1204 2 252,000
OAZHE ofelold 28l X
100, 0003 *34JH 2 = 1200 & 40,800
O0Eold B0 o8 XA
200,000 «20H 2= = 1200 & 48,000
OR2=Y JULS2 X
30,000 330 1271 & 118,800
OUEold HAIZ=0| e8] XA
300, 0003 4600 2=« 1204 & 165,600
OBSwA Zed+g 150,000
307 glz2+ol & 47,000 33,000 14,000
11T MISRASEX 43,000 33,000 10,000
O0eold Esndd Ads 20,000
O0eold ¥ I3 Hs 22 13,000
O0eold EsuXA stitstal 10,000
12 22Ol & = H| 4,000 0 4,000
OEsSnAE 2+1F 4,000
ESANE Sy 397,600 445,600 A 48,000
= 112,280
Al 285,320
301 LEXZ 324,000 360,000 A 36,000




2N

M OlsEAE =X 5&
Sl BEAS YN CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 97,200
Al 226,800
01 MEI2BZE+06l= 324,000 360,000 A 36,000
OESWA ¥ &H| 324,000
< 97,200
Al 226,800
307 21201 A 73,600 85,600 A 12,000
= 15,080
Al 58,520
11T A SRAEE = 73,600 81,600 A 8,000
O0gold deteryl XI& 70,000
< 14,000
Al 56,000
OFHAXY oelold 234l 3,600
< 1,080
Al 2,520
ESUIY A & 2EXA 6,332,400 5,128,000 1,204,400
= 3,166,200
< 1,583,100
Al 1,583,100
307 21201 A 6,332,400 5,128,000 1,204,400
= 3,166,200
< 1,583,100
Al 1,583,100
11T MISRASEEX 6,332,400 5,128,000 1,204,400
OESnA olAddl X 6,332,400
= 3,166,200
< 1,583,100
Al 1,583,100
ESAE MR H ZZ2 8| 6,300 6,300 0
307 gl2tol & 6,300 6,300 0
11 ALS S XAEE = 6,300 6,300 0
ONEold MRH =208 X 6,300
OOt EAE MEBEXI P Y E2u=82 X 2,000 2,000 0
Abed
307 21201 A 2,000 2,000 0
11T A SXAIEE = 2,000 2,000 0
OFOMOF MEAS EX)] & MEXZI X 2,000
DAY MM NA(BXZ WA L dE3Es A 1,044,600 657,600 387,000
=gmPp\;
= 522,300
< 261,150
Al 261,150
307 21201 A 1,044,600 657,600 387,000
= 522,300




SH: OEISD
JC'\;IJ'(H: O}Ei—lAL_ =2
2 =
S 2SAE 2Y

Off &t 24

=

i
2m

261,
261,

150
150

A S XAIE E =

OBSuHA H2MAX(EZLAXEH)

= N W

1,044,
1,044,

522,
261,
261,

600

600
300
160
160

657,600

387,000

SSDAY MM N (SLRA L DAZA

{0

= MW

898,

449,
224,
224,

400

200
600
600

704,200

194,200

wW
<
e
rc
HL
o
oy

= 0 W

898,
449,
204,
204,

400
200
600
600

704,200

194,200

01 A28 H 6=

Og A XI&Hl

= N H

898,

898,
449,
224,
224,

400

400

200
600
600

704,200

194,200

Jm
g
rJ
10

EFUEIA H2ME XN (SEER0A
o)
o

4

= M W

80,

40,
20,
20,

000

000
000
000

80,000

= MW

80,
40,
20,
20,

000
000
000
000

80,000

= W

80

80
40
20
20

,000

,000
,000
,000
,000

80,000

g0l A uAL XI&

=z N H

272
136

,520
,260
68,
68,

130
130

26,916

245,604

= W

272
136

,520
,260
68,
68,

130
130

26,916

245,604

= Hn

272
272

136,
68,
68,

,520
,520

260
130
130

26,916

245,604




M o6&t

=1
Ha: OIS EHAL

dadE =X 58
o9l BRAE 2YXNH EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
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AN GEIEY
dM: Lol EX A
el AAB LOA=TAL X CEEEED
= - — L=
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
| < 50,000
LoIEXAE XA 15,000 15,000 0
307 gl2tol & 15,000 15,000 0
12 QIO & = H| 15,000 15,000 0
OLQ=RAE SALAL 25 W= 15,000
COIMEAL 22 N (EX) 4,730,380 4,751,158 N20,778
< 3,188,390
Al 1,541,990
301 LEEAZ 4,423,180 4,409,518 13,662
= 3,096,230
Al 1,326,950
01 MEI2BZE+05l= 4,423,180 4,409,518 13,662
OLoldeAld XI& 4,423,180
< 3,096,230
Al 1,326,950
307 21201 A 307,200 341,640 A 34,440
< 92,160
Al 215,040
10 ALSISXAIEEER2IHEX 307,200 341,640 A 34,440
OLQ=XIAIL(ME I SAX SEE 307,200
= 92,160
Al 215,040
Wt SXAIE 28 XN (EX) 4,313,880 3,395,245 918,635
=3 449,244
Al 3,864,636
301 LEXZ 4,224,600 3,307,405 917,195
< 422,460
Al 3,802,140
01 MEIE2EZE 406z 4,224,600 3,307,405 917,195
OMI=A=XAIE X 4,224,600
< 422,460
Al 3,802,140
307 21201 A 89,280 87,840 1,440
< 26,784
Al 62,496
10 ALSISXAIEEE2EHEX 89,280 87,840 1,440
OLQHOoIAHE 2HHl X2 (2H2) 89,280
< 26,784
Al 62,496
Lo=EA2 24 XN 808,050 774,270 33,780
307 21201 A 760,000 700,000 60,000
05 BIZERI & 3 760,000 700,000 60,000
Oko=Xa 522l K& 760,000
401 A& HIZ 201 I 30,250 29,480 770
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2N
X ZH -
L= B

el

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
01 Al&H| 30,250 29,480 770
OLQ=EX 2 SA 842 A 30,250
405 XHoHFE S HI 17,800 27,790 29,990
01 XA 2B F S| 17,800 27,790 29,990
OF A (AH) &Hl 2 14,000,000 » 1Al 14,000
OHFAH(YBIE) ZH 2 1,600,000 x 14! 1,600
OZZIYga gozME g
2,200,000 =14l 2,200
o2 29 N (BEX) 74,872 71,285 3,587
& 18,399
Al 56,473
307 2izto| A 74,872 71,285 3,587
& 18,399
Al 56,473
10 MM SAANEEHESIHEX 74,872 71,285 3,587
OLQEX2 SAA S84 19,740
o=t 5,920
Al 13,820
Okolg=ss 2sHY HUlA Zel A 28,060
& 8,418
Al 19,642
OoEia dyss)dad Ad 27,072
o= 4,061
Al 23,011
HASELoEXS HEAMH 3,000,000 0 3,000,000
401 Al HI L £ 0HHI 3,000,000 0 3,000,000
01 Al& B 2,989,200 0 2,989,200
OLYASRLAST T HAY (2AR)
3,000,000, 000 *99.64% 2,989,200
03 A& E2HH]| 10,800 0 10,800
OLASRLAST T AL (2A )
,000,000,000= *0.36% 10,800
OrMEH Lol S8 AMHIA X 4,333,555 3,989,091 344 464
= 2,409,370
J| 92,532
& 433,690
Al 1,397,963
AMES=E MY HES A0 41,739 41,739 0
201 gEt24Ay| 41,739 41,739 0
02 Z2=2=2494| 41,739 41,739 0
OGMNES3= AIHD s A 41,739
SN0 - S S=o4A 2 AHHA 2N 27,279 9,520 17,759
101 e1214| 27,279 9,520 17,759
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AN GEIEY
¥ Lo =X 57
CHel O EE Lol SEAHA X (el @2)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
03 RIAHAZ 22+ 27,279 9,520 17,759
OSJHiol - &ojel STUHGIMNHIA S22
¥ 2l2dl & =Sel=4] 27,279
SHEE3(2Y) 2,490,500% »2H 4,981
HELNOUS 1,167,600 »2H »23| 4,671
d2=¢ 876,500 x2H »23| 3,506
d2+4 Jhits 55,0003 2B 1204 & 1,320
A ZAH| 130,000%2H =121 = 3,120
tergs+¢ 40,000%2F 1204 2 960
IHEE 40,000%2% 1204 2 960
HEIZ2Y 16,6293 x2H«15A1 2H+1204 2 5,987
X 88,7003 x2H 102 1,774
HSSEL0 B#HEX)] NBMY(EX) 9,000 9,000 0
= 2,700
Al 6,300
301 etE2H = 9,000 9,000 0
= 2,700
Al 6,300
01 MEIBEZE 405z 9,000 9,000 0
ONss®Le BHE XD X (600) 9,000
< 2,700
Al 6,300
HNAS THOHC-QIAANHE (B X) 276,480 276,480 0
=) 51,840
Al 224,640
307 glztol & 276,480 276,480 0
=) 51,840
Al 224,640
11T MISAASEX 276,480 276,480 0
OMAS MOt=Ql ALAMEHE AR (1922) 276,480
= 51,840
Al 224,640
LEIZRAL(ER) 81,000 81,000 0
< 16,875
Al 64,125
307 glz2tol ™ 81,000 81,000 0
= 16,875
Al 64,125
11T AL SRAEE = 81,000 81,000 0
ORsZ242(90%) 3,000 *90H 300 81,000
=) 16,875
Al 64,125
LOIHAME(EX) 5,833 7,722 A1,889
=) 875
Al 4,058
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M 08I S
HH: Lo =X B
el OHEBE Lol SEAHIA XY CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %E& HRE2
307 2Iz2to| & 5,833 7,722 A 1,889
== 875
Al 4,958
01 e =t 5,833 7,722 A 1,889
OLQl AAXCHHl X< (105H) 5,833
= 875
Al 4,958
SHEO - SSHC S20td LSNHHA 2 185,064 67,620 117,444
(2X)
J| 92,532
Al 92,532
101 Q124 H| 55,136 58,520 N 3,384
Jl 27,568
Al 27,568
03 RIAHSZZXHE = 55,136 58,520 N 3,384
OS2 oA S 55,136
J| 27,568
Al 27,568
201 gEt24Hy| 129,928 9,100 120,828
J| 64,964
Al 64,964
01 AP 22| H| 126,928 1,000 125,928
OSSUHEAAMAHHIAAE AFR22H S 126,928
J| 63,464
Al 63,464
02 =224 4| 3,000 8,100 A5,100
OSSUHAMANEIAANY 222HH| 3,000
J| 1,500
Al 1,500
Lot ES2 AU AAY XK (EX) 3,441,960 3,215,210 226,750
= 2,409,370
& 361,400
Al 671,190
307 2iztol & 3,441,960 3,215,210 226,750
= 2,409,370
& 361,400
Al 671,190
11T AISIEXAIEEX 3,441,960 3,215,210 226,750
OLoSE=SAEIAAEY 3,441,960
= 2,409,370
== 361,400
Al 671,190
Lolgts=2 NHAAMY 265,200 280,800 A 15,600
307 2I2t0| ™ 265,200 280,800 A 15,600
11 A EXAIEE X 265,200 280,800 A 15,600
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AN GEIEY
HM: ol =X BX
el OHEBE Lol SEAHIA N CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OkoXE=sS ML ESY
(352 %200,000& 128 )+(1512 %100, 000& * 12 265,200
2)
AN BRE3 XA 4,548,101 853,414 3,694,687
= 2,213,000
< 501,214
Al 1,833,887
ZALAIE 459,695 553,414 A93,719
101 124 dl 69,600 76,194 N6,594
04 JIAHH22NSE A 69,600 76,194 6,594
538 U UVAFK =9 0E ARY
138,980 & x3H 23| x5 4,170
Osse 2 NARK =¥ Az o=
69,7603 x6H »33 1,256
OZERX 2002 HEXY o2
138,980& 60X 8,339
Oss JIZH 22X A2 55,835
g2Z2R 69,7603 x2H x229 31,951
s422 104,640% 2% x40 8,372
54+ 69,7603 x2H x50 8,232
IHEE R 270,000 »2H «12& 6,480
o=l 200,000& x2H +23| 800
201 €82l 171,360 144,120 27,240
01 At 22l 19,120 20,520 A 1,400
o=l 200,000 x6H 33| 3,600
Osstd - s3tg - HHEX 24 10,000
Osstd sotg A 23|
110,000& 204 2+ 12& 2,640
Os3d M@ g2Hl  8,000& x3F 102 128 2,880
02 =224l 152,240 123,600 28,640
Ossd - NEEX AIEEH sX2e 90,000
Odl= s3tg deldiolg 2el
270,000 128 3,240
Oz22= & HA 59,000
202 O4dl 4,800 4,800 0
01 = LH 4 bl 4,800 4,800 0
ORHzR & 28aX X &2 4,800
206 24 60,000 60,000 0
01 MHZ 4l 60,000 60,000 0
SetE JtA Al 5,000,000& x12& 60,000
401 Al HI X 201 152,935 260,800 A~ 107,865
01 A& Hl 152,935 260,800 A 107,865
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2N
X ZH -
L= B

el

EpIE
o =23 =
dat #R2s K9

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
O3 &2 JIs22 20 X (HEEHW
H S) 77,935
OF222 BLAZ2A (ML ot A3 S) 20,000
Ossty st A 110, 000 & 5004 55,000
802 Bt =2 DI E} 1,000 0 1,000
03 JIEIEtE 2 S 1,000 0 1,000
OZANALE (SR EHIAIEE BHE 2 1,000
=SSl AMEAY 4,088,406 300,000 3,788,406
2 2,213,000
& 501,214
Al 1,374,192
401 AlEHIZL 2 0HY| 4,088,406 300,000 3,788,406
= 2,213,000
< 501,214
Al 1,374,192
01 Al&EH| 3,919,603 300,000 3,619,603
O2LEAMANE EXNAIL (SR EF)
3,930,214, 000 *99.73% 3,919,603
=2 2,213,000
& 501,214
Al 1,205,389
02 2eldl 158,191 0 158, 191
O2LZAANE XA 22H (A=, 8D, =
Al A8 158,191
03 AlE 20| 10,612 0 10,612
OBEEAAIE EX AL 20|
3,930,214,000& x0.27% 10,612
BY2YAY 68,240 70,300 ~2,060
JlE&dl 68,240 70,300 AN 2,060
Jl2 &4l 68,240 70,300 A 2,060
201 Yet2 | 23,000 23,000 0
01 AP 22| H| 23,000 22,000 1,000
OWAEIIZY = 2| 6,000
OgtL=24| 17,000
202 o4 | 40,140 42,200 A 2,060
01 201l 40,140 42,200 A2,060
A=A oY 39,140
OFAEANE NEBE 1,000
203 €2 F=&d| 5,100 5,100 0
04 EANSIELR2F=XH| 5,100 5,100 0
ORI ERFEH| 5,100




